Cardiac cycle

Vocabularies :

- Systole: cardiac muscle contraction.

- Diastole: cardiac muscle relaxation. (rest) (coronary blood flow)

- End Diastolic volume (EDV): It is defined as the maximum amount of
blood in the ventricles at the end of the ventricular diastole . No more

blood will be added to the ventricles during this cycle.

It is about 140 wml.

- End Systolic volume (ESV): Amount of blood remaining in the
ventricles at the end of systole when ejection is complete. It is about

70 ml. This is the least amount of blood that the ventricle will contain

during this cycle.

- Stroke volume (SV): Amount of blood pumped out of each ventricle
with each contraction. SV = EDV - ESV = 140 — 70 = 70 ml

- Ejection fraction (EF): It is the fraction of the end diastolic volume
that is ejected out with each contraction. It usually equals 70%.

- Dicrotic notch: At the onset of ventricular diastole, closure of the
aortic valve produces a disturbance or notch on the aortic pressure
curve. This is caused by backward flow of blood (due to elastic recoil in
the aortic walls) immediately before closure of the aortic valve
followed by sudden stoppage of back flow. (Incisura)
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e QRS complex waves of ECG > ventricular depolarization % Py

e T wave > ventricular repolarization ( after QRS complex ) ®




S1 > due to closure of the AV valves. Loudest at mitral area

s2 > due to closure of semilunar valves

S3 > due to rushing of blood into the ventricles ( when dilated )
S4 > due to vibration of atrial muscle during the contraction ( late
diastole )

In phase 2 — isometric : same length

In phase 3 & 4 — isotonic : same tension
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